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o FYF ST # o fH 5G9 gT-g H FET §B 15 79
79720 & |

Please make sure that the printed pages in this
question paper are 15 in number and it contains

20 questions.

o T97-9F H qIfe7 &1 &1 SR {7 T Fig T7=7 79T 6 & 5
TI-GITel & JeT-9% T [od |

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.

2911/ (Set : A) P.T.O.

Previous Pathshala




(2) 2911/ (Set : A)

o FHUIT F9T FH T [T@T & FA T &, F97 F HHIF Fa9T
forg |
Before beginning to answer a question, its Serial

Number must be written.
o IT-§iTa@l & &= 7 @it =1/9+ 7 815 |
Don’t leave blank page/ pages in your answer-book.
o TW-YRaH & Sfaked #F o= i TE [ I
STaRIFATAR &1 fer off for@l g 7 #1e |
Except answer-book, no extra sheet will be given. Write
to the point and do not strike the written answer.
o TR ST Rt T o FIT-TH T G [iE |

Candidates must write their Roll Number on the

question paper:

 HYIT F9TI 1 G &4 7 g9 I8 GIARET & [ J97-97 g0
7 & & qier & Suv 57 a5 § FiF ot qrar dEw
78T far A |
Before answering the question, ensure that you have
been supplied the correct and complete question

paper, no claim in this regard, will be

entertained after examination.
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AT 39T :
(i) TH g9 Srfard & |
(ii) FAF 797 & [F9iRa o 6@ ar 9T 77 8 |
(iii) 97 HET 1 & ¥RE (i-xi) TGI8 F971 7 &ieT 747 &1
Te% F97 1 oF &7 &1 F97 (i) € (v) TF GABAT F97

8| g% 597 & g faF T4 AR f[AEed 4 & o aE
fawer g 81 T&id F97 (vi) T (xi) T & T T

JHR & 997 2|

(iv) F9T TET 2 § 9 0% JATGTHIAE F97 & (974 TA9F
97 2 3 & &l F% @ I AHTEd 30 Ik G
S79% 7 g AR/

(v) F9T HEIT 10 T 17 7% qguicis J97 & 978 g%
T97 4 P @[ 8| Fd% FT TR GHEET: 60 I=] §
3ifa® 7&1 8l a1yl

(vi) T9T TET 18 & 20 7% ARHTHE F97 & [ 79%
g9 7 Sf@l FT & §AF FT I QI 130 kI G
sifér 78 & FfeT
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(vii) G FTEITHE J971 § SR g2 Fyae 8 Q7 Fer

5 @ oIrgH FacT OF & g7 HT Bl

(viii) I -HIAT G, FEATHeS TT G ald 971 0T A

e &1

General Instructions :

(i) All questions are compulsory.

(i)
(i)

()

(v)

Marks for questions are indicated against each.
Question No. 1 is divided into eleven (i-xi)
objective type questions. Each question carries
1 _mark. From questions (i) to (v) are multiple
choice type questions. One correct option has
to be chosen out of four options in each
question. While questions (vi) to (xi) are of True
and False type questions.

Question Nos. 2 to 9 are very short answer
type questions carrying 2 marks each. Answer
to these should normally not exceed 30 words
each.

Question Nos. 10 to 17 are short answer type
questions carrying 4 marks each. Answer to
these should normally not exceed 60 words

each.

2911/ (Set : A)

Previous Pathshala




(5) 2911/ (Set : A)

(vi) Question Nos. 18 to 20 are long answer type
questions carrying 7 marks each. Answer to
these should normally not exceed 130 words

each.
(vii) Internal choice is available in all long answer

type questions. You have to attempt only one

of the given choice.

(viii)Word limit is not applicable to formulae,

numerical and diagrammatical questions.

[ RIS 9977
[ Objective Type Questions ]
frifefed g9l & @8t e gihd :

Choose the correct alternatives of the following

questions :

1. (i) 3RS UH <97 4 FEHl &l HREGA I A 1 I
EATET b (PPC) i a1 Raf gy ? 1
(@) TS GEATIAT 95 ST SR A &l e S
(b) TG FHATEAT 9 AT 3R HW HI RHeb ST
(c) SIS TG 96 § $Ig qRAc &l &I
(d) T sl A &
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If the efficiency of resources of a country
improves then what will be the position of

the production possibility curve ?

(a) Production possibility curve will shift

downwards to the left

(b) Production possibility curve will shift

upwards to the right

() Production possibility curve will not

change

(d) All of these are correct

(i) = § F Fi-ar g T § 2 1
(@) MU= % (b) TU =X MU
(c) MU= %J d) TU, -TU,_,

Which of the following is a wrong equation ?

@ mu=2TY (b) TU =X MU
() MU = %U d) TU,-TU,_,
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(iii) ¥ MC < ATC @I ATC TR &7 JHTT g ? 1
(@) ATC g STl
(b) ATC HT STt
() ATC R &t
(d) T q PE T
What will happen to ATC when MC < ATC ?
(a) ATC will rise
(b) " ATC will fall

(¢) - ATC will remain constant

(d) ~None of these

(iv) | AT G St Bl & Sfel 1
(a) AR >AC (b) AR = AC
( AR<AC (d) TR > TC

Normal profit occurs when :
(a) AR > AC (b) AR = AC
(c) AR<AC (d) TR > TC
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(v) ®-8 IR & T &5 & e & @ afos @

@ e g ? 1
() T

(b) 0T Ffaeat

(c) TSR Fferaar

(d) STHTERR

Under which market form, price line for a
firm is a horizontal straight line ?

(a) Monopoly

(b)  Perfect Competition

(¢) Monopolistic Competition

(d) Oligopoly

7 B9 wEY & T T, TRy

State whether the following statements are True

or False :

(vi) T9IC X@T &I |9 IATS @ off Fad & 1
Budget line is also known as Iso-product line.

(vii) FTee ag AT & Faw &1 ovarg 2| 1

Giffen Good is an exception to the law of

demand.
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(viii)SCATEH B TIA IUTE bl ET HaedT H 91 el
2l 1

Producer's Equilibrium is struck in the

second stage of production.

(ix) GRY T EE F =R e 2l 1
There is a difference between 'supply' and

'stock’.

(x) STfoeIIHE & AU 3§ G0 s § & fored agg
&l g B pasl ARETTHT HRBI GRT TSAT T Febell
gl 1

A very short period refers to that time period
in which supply of a commodity can be

increased with help of variable factors alone.

(xi) THITIBR & ST HFT G AT P aCEK erdl | 1

Under monopoly, price is equal to marginal

cost.
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[ STTTYTRIS 99 ]

[ Very Short Answer Type Questions ]

2. drEdidd e ¥ gt Afmrg & 7 2

What is meant by positive economics ?

3. T a% [l Fed @ ? 2

What is an indifference curve ?

4. TS IEIT AT B & 7 e 2

What are substitute goods ? Give examples.

5. U® a&] B HIHT H HAT & § 960 $ol AT I3 ST &

7 U a%g &I AT A—ER 1 Swrer e ? 2

Total expenditure on a good increases with the
fall in its price. State if the demand for the good

is elastic or inelastic ?

6. 9 MR Y BIdT & d§ TR IATG & 619 H4 qeqai & ! 2

How TR changes with change in output when

MR is zero ?
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7. TG B GHEIA T ST AT G & 7 2
What do you mean by homogeneous product ?

8. Uit 7 dga & a1 o & ? 2
What is meant by contraction of supply ?

9. TSR Bl JRAT S| 2
Define oligopoly.

[ RIS 997 ]
[ Short Answer Type Questions ]

10. U @I &l GBIl § S8 SR $H| SRUT I AT
i | 4
Explain the concept of opportunity cost with the
help of a diagram.

11. U% IUH (&l 9% W 50 &99 &9 AT & 99 Iqa!
BT UH ST I 3P & 97 64 &Y TF AT & 9«
IHH H AT B I 3HE §| TG H AN A HAT A=
ST | 4
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12.

13.

14,

15.
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A consumer spends Rs. 50 when its price is Re.
one per unit and spend Rs. 64 when its price is
Rs. two per unit. Find out the price elasticity of

demand for the good.

TS T &l Feradl 9 417 7 gig & e & 4

Explain increase in demand by using diagram.

FrAT I qUT ‘N SE H gy §arsy| 4

Discuss the relationship between - 'marginal

product' and 'average product’

ol FIGEIRIT 68 #ed & ? 589 BH LA 3 & gR
@y 2,2

What is perfect competition ? Show the demand

curve of a firm under it.
g @l o & JATAT A A1 [l F0 B & AW

SRR 4

Name any four factors affecting elasticity of

supply.
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16. ‘= Sud a9 ‘GHYT HiET H TR o | 4

Write the difference of 'control price' and

'support price'.

17. QU SICEIRTAr 7 ‘Twieert Siadiier § $1E v =)
forg | 4
Write any four points of difference "between"
perfect competition' and 'monopelistic competition'.

[ ATEATHE 997 ]
[ Long Answer Type Questions ]

18. HIT & (a9 &I qiicrpl ToT @M & Heradl & el
S| 7
Explain law of demand with the help of table
and diagram.
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el
OR

T 3 B @ o @ At © 2 faeg faftr am sw

9T ST G & 7 25

What is price elasticity of demand ? How it is

measured with point method ?

19. GRAT AT & {7 ot drieenr T4 W@e= Hl Fedr 4

ATEAT. & 7
Explain the law of variable proportions with the

help of schedule and diagram.

Rl
OR
Ul SR &l qeq faQrerralt &1 Giera aui & | 7

Discuss in brief the main characteristics of a

perfectly competitive market.
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20. FJEH HIFT FTECN & ? TE HY MURT & E? 2,5

What is equilibrium price ? How is it

determined ?

AT

OR
THUHN YT THHINS TG SSRI B G
EESERIKY 7

Compare ~ and - contrast ~ monopoly and

monopolistic competition.
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